Chapter 7 Problems of the Week Answers

1. a) ( ) (2 + 1)_,_(;_,_5) =3 5. Never, because any fraction divided by
3 6/ \6 6 2 does not equal 0
142)4(145)= ) 1 5 10 25 50 100
b) ( 3)+(6+6)+(3+6) 3 6. a) 100'100'100'100"100'100
2.a) Yes. 9,102,114,131,143 b) Answers may vary. For example:
! ! ! ! 11 coins;
Add 12 to the previous number. 1oy 14 1 4 1 414 5
5 100 100 100 100 100 100
No. 101 101 93 93 5 410 4, 25 4 50 100 _
b) No. 103,105,9%, 959 *100 " 100 T 100 T 100 100 2
Subtract 3 from the previous number. 7. Answers should list any seven unequal
s 8 ) . ) ) fractions with a sum of 1. For example:
c) No. 92,11=-,12£,14=,16= =1 3
) g 115,125,145,162 red 5g i orange = 2— yellow = %,
Add 1% to the previous number. green = is’ blue = 2@ indigo = 28
3.2) yto=ly3t=e P 5tI=55577755 violet = &
4,3_13 4,3_14
44 0=12 442=14
) s*ts=li56t5 115
4. 4_2_5 4_2_1 2_1_52_1_1
A5 8712’8 66 P57 5T12'47357%
5 7 35'7 5 35
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